CONTINUED FRACTIONS REPRESENTING CERTAIN ANALOGUES OF EXPONENTIAL ELEMENTS IN $\mathbb{F}_q((1/x))$

T. Chaichana*, V. Laohakosol** and J. Rattanamoong***

*,*** Department of Mathematics and Computational Science, Faculty of Science, Chulalongkorn University, Bangkok 10330, Thailand email: *tuangrat.c@chula.ac.th email: *** j_rattanamoong@hotmail.com

Abstract

Let $(Q_i)_{i=1}^{\infty}$ be a sequence of nonzero monic polynomials over a finite field \mathbb{F}_q satisfying $Q_1 \cdots Q_i | Q_{i+1}$ $(i \in \mathbb{N})$. Let $\alpha(n) = \sum_{i=1}^n 1/Q_1 \cdots Q_i$ and $\alpha(\infty) = \sum_{i=1}^{\infty} 1/Q_1 \cdots Q_i$. It is shown that the continued fraction for $\alpha(\infty)$ in the function field $\mathbb{F}_q((1/x))$ can be explicitly given. As an application, by choosing suitable polynomials Q_i , explicit continued fraction expansion of a function field analogue of some exponential elements in $\mathbb{F}_q((1/x))$ $(q \geq 2)$, are derived. This gives an extension of some earlier work of Thakur in 1992.

1 Introduction

As seen in [1]-[6] and [8]-[14], there have appeared various relationships between series and continued fractions. Some of these results connect certain types of series with continued fraction expansions having symmetric patterns.

In [13], Thakur explored the question of finding "interesting patterns for interesting numbers" in the function field setting and found an interesting continued fraction for an analogue of e for $\mathbb{F}_q((1/x))$.

Let \mathbb{F}_q be a finite field of q elements, $(q \geq 2)$, $\mathbf{F} := \mathbb{F}_q((1/x))$ the field of formal Laurent series over \mathbb{F}_q equipped with a degree valuation $|\cdot|$ defined by $|x^{-1}| = e^{-1}$. Every element $\xi \in \mathbf{F}$ can be uniquely written as a simple continued fraction of the form

Keywords: function field, exponential element (2010) AMS Classification: 11A55, 11F70

^{**} Department of Mathematics, Kasetsart University, Bangkok 10900, Thailand email: fscivil@ku.ac.th

$$\xi = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \cdots}} := [a_0; a_1, a_2, \ldots],$$

where $a_0 \in \mathbb{F}_q[x]$ and $a_n \in \mathbb{F}_q[x] \setminus \mathbb{F}_q$ $(n \ge 1)$.

Let $C_n/D_n = [a_0; a_1, \dots, a_n]$ be the *n*th convergent of the continued fraction for ξ . The following basic properties are easily verified by induction.

- 1. $D_nC_{n-1}-C_nD_{n-1}=(-1)^n \quad (n\geq 0)$, so that C_n and D_n are relatively prime;
- 2. $C_{n+1} = a_{n+1}C_n + C_{n-1}$ and $D_{n+1} = a_{n+1}D_n + D_{n-1}$ $(n \ge 0)$;
- 3. for any $n \geq 0$, we have

$$\frac{\zeta C_n + C_{n-1}}{\zeta D_n + D_{n-1}} = [a_0; a_1, a_2, \dots, a_n, \zeta];$$

4. if
$$\frac{C_n}{D_n} = [a_0; a_1, \dots, a_n]$$
, then $\frac{D_n}{D_{n-1}} = [a_n; a_{n-1}, \dots, a_2, a_1]$.

An analogue of the exponential element in \mathbf{F} , introduced by Carlitz (see e.g. [13], [14]), is defined as follows: let $[i] = x^{q^i} - x$, $d_0 = 1$ and $d_i = [i] d_{i-1}^q$ $(i \ge 1)$. The exponential for \mathbf{F} is defined by

$$e(z) = \sum_{i=0}^{\infty} \frac{z^{q^i}}{d_i}.$$

Put e := e(1). Then the series expansion for e is of the form

$$e = \sum_{i=0}^{\infty} \frac{1}{d_i}.$$

In 1992, Thakur [13] proved the following result which give the continued fraction expansion for $\sum_{i=0}^{n+1} z^{q^i}/d_i$ if the continued fraction expansion for $\sum_{i=0}^{n} z^{q^i}/d_i$ is known.

Proposition 1. Let $x_1 = [0; z^{-q}[1]]$, and if $x_n = [a_0; a_1, ..., a_{2^n-1}]$, then set

$$x_{n+1} = [a_0; a_1, \dots, a_{2^n-1}, \frac{-z^{-q^n(q-2)}d_{n+1}}{d_n^2}, -a_{2^n-1}, \dots, -a_1].$$

Then

$$x_n = \sum_{i=1}^n \frac{z^{q^i}}{d_i}.$$

In particular, $e(z) = z + \lim_{n \to \infty} x_n$ and for q = 2,

$$e = [1; \underbrace{[1], [2], [1]}_{,}, [3], \underbrace{[1], [2], [1]}_{,}, [4], \underbrace{[1], [2], [1], [3], [1], [2], [1]}_{,}, [5], \dots]$$

(More explicitly, for n > 0 the n-th partial quotient is $x^{2^{u_n}} - x$ with u_n being the exponent of the highest power of 2 dividing 2n).

Our objective here is to extend this proposition of Thakur by proving

Theorem 1. Let $(Q_i)_{i=1}^{\infty}$ be a sequence of nonzero monic polynomials over a finite field \mathbb{F}_q , let

$$\alpha(n) = \sum_{i=1}^{n} \frac{1}{Q_1 \cdots Q_i} \quad (n \ge 1) \quad and \ let \quad \alpha(\infty) = \sum_{i=1}^{\infty} \frac{1}{Q_1 \cdots Q_i}.$$

Assume that $Q_1 \cdots Q_i | Q_{i+1}$ $(i \in \mathbb{N})$. Then $\alpha(1) = [0; Q_1]$ and if $\alpha(n) = [0; a_1, \ldots, a_{k_n}]$, then

$$\alpha(n+1) = [0; a_1, \dots, a_{k_n}, \frac{-Q_{n+1}}{Q_1 Q_2 \cdots Q_n}, -a_{k_n}, \dots, -a_1].$$

Moreover,

$$\alpha(\infty) = [0; \underbrace{Q_1}, \frac{-Q_2}{Q_1}, \underbrace{-Q_1}, \frac{-Q_3}{Q_1Q_2}, \underbrace{Q_1, \frac{Q_2}{Q_1}, -Q_1}, \frac{-Q_4}{Q_1Q_2Q_3}, \ldots].$$

2 Proofs

Our work makes use of the following lemma, see e.g. [7] and [15].

Lemma 1 (Folding Lemma). Let $y \in \mathbf{F}$ and $\frac{C_n}{D_n} = [a_0; a_1, a_2, \dots, a_n]$. Then

$$[a_0; a_1, \dots a_n, y, -a_n, \dots, -a_1] = \frac{C_n}{D_n} + \frac{(-1)^n}{yD_n^2}.$$

Proof of Theorem 1. It is clear that $\alpha(1) = \frac{1}{Q_1} = [0; Q_1] := \frac{C_{k_1}}{D_{k_1}}$. Since $gcd(1, Q_1) = 1$ and Q_1 is monic, we have $1 = C_{k_1}$ and $D_{k_1} = Q_1$. By Folding Lemma, we get

$$\alpha(2) = \frac{1}{Q_1} + \frac{1}{Q_1 Q_2} = \frac{1}{Q_1} + \frac{-1}{\frac{-Q_2}{Q_1} Q_1^2} = [0; Q_1, \frac{-Q_2}{Q_1}, -Q_1] := \frac{C_{k_2}}{D_{k_2}}.$$

For $n \geq 2$, let $[0; a_1, \ldots, a_{k_n}]$ be a continued fraction expansion for $\alpha(n)$ whose k_n th convergent is C_{k_n}/D_{k_n} ; observe that k_n is an odd integer. By Folding Lemma, we get

$$[0; a_1, \dots, a_{k_n}, \frac{-Q_{n+1}}{Q_1 \cdots Q_n}, -a_{k_n}, \dots, -a_1] = \frac{C_{k_n}}{D_{k_n}} + \frac{(-1)^{k_n}}{\frac{-Q_{n+1}}{Q_1 \cdots Q_n}} D_{k_n}^2$$
$$= \alpha(n) + \frac{(-1)^{k_n}}{\frac{-Q_{n+1}}{Q_1 \cdots Q_n}} D_{k_n}^2.$$

On the other hand, we have

$$\frac{1}{Q_1} + \dots + \frac{1}{Q_1 \dots Q_n} = \frac{(Q_2 \dots Q_n) + (Q_3 \dots Q_n) + \dots + Q_n + 1}{Q_1 \dots Q_n}.$$

We assert that $\gcd((Q_2 \cdots Q_n) + (Q_3 \cdots Q_n) + \cdots + Q_n + 1, Q_1 Q_2 \cdots Q_n) = 1$ for $n \geq 2$. Suppose there exists a prime $p \in \mathbb{F}_q[x]$ such that

$$p|((Q_2 \cdots Q_n) + (Q_3 \cdots Q_n) + \cdots + Q_n + 1)$$
 and $p|(Q_1 Q_2 \cdots Q_n)$.

Since $p|(Q_1Q_2\cdots Q_n)$, $p|Q_k$ for some $1\leq k\leq n$, then $p|Q_jQ_{j+1}\cdots Q_n$ for all $2\leq j\leq k$. Since $Q_1\cdots Q_k|Q_{k+l}$ for all $1\leq l\leq n-k$, we have $Q_k|Q_{k+l}\cdots Q_n$ for all $1\leq l\leq n-k$ and so $p|Q_{k+l}\cdots Q_n$ for all $1\leq l\leq n-k$. Since $p|((Q_2\cdots Q_n)+(Q_3\cdots Q_n)+\cdots +Q_n+1)$, then we get p|1, which is a contradiction. Thus $\gcd((Q_2\cdots Q_n)+(Q_3\cdots Q_n)+\cdots +Q_n+1,Q_1Q_2\cdots Q_n)=1$. Since all Q_i are monic, then $D_{k_n}=Q_1Q_2\cdots Q_n$. Hence

$$\alpha(n) + \frac{(-1)^{k_n}}{\frac{-Q_{n+1}}{Q_1 \cdots Q_n} D_{k_n}^2} = \alpha(n) + \frac{-1}{\frac{-Q_{n+1}}{Q_1 \cdots Q_n} (Q_1 Q_2 \cdots Q_n)^2}$$
$$= \alpha(n) + \frac{1}{Q_1 \cdots Q_n Q_{n+1}} = \alpha(n+1).$$

Consequently, we have

$$\begin{split} &\alpha(1) = [0;Q_1] \\ &\alpha(2) = [0;\underbrace{Q_1}, \frac{-Q_2}{Q_1}, -Q_1] \\ &\alpha(3) = [0;\underbrace{Q_1}, \frac{-Q_2}{Q_1}, -Q_1, \frac{-Q_3}{Q_1Q_2}, \underbrace{Q_1}, \frac{Q_2}{Q_1}, -Q_1] \\ &\vdots \\ &\alpha(\infty) = [0;\underbrace{Q_1}, \frac{-Q_2}{Q_1}, -Q_1, \frac{-Q_3}{Q_1Q_2}, Q_1, \frac{Q_2}{Q_1}, -Q_1, \frac{-Q_4}{Q_1Q_2Q_3}, \ldots]. \end{split}$$

Specializing the parameters in Theorem 1, we now derive several continued

fraction expansion of analogous of exponential in **F**.

Corollary 1. Let $[i] := x^{q^i} - x$, $d_0 := 1$, and $d_i := [i] d_{i-1}^q$ $(i \ge 1)$. Then

$$I) \ e - 1 = \sum_{i=1}^{\infty} \frac{1}{d_i} = [0; \underbrace{d_1}, \underbrace{-d_2}_{d_1^2}, \underbrace{-d_1}, \underbrace{-d_3}_{d_2^2}, \underbrace{d_1}, \underbrace{\frac{d_2}{d_1^2}, -d_1}, \underbrace{-\frac{d_4}{d_3^2}}, \dots]$$

$$= [0; \underbrace{[1]}, -[2]d_1^{q-2}, \underbrace{-[1]}, -[3]d_2^{q-2}, \underbrace{[1], [2]d_1^{q-2}, -[1]}, -[4]d_3^{q-2}, \dots]$$

$$II) \sum_{i=1}^{\infty} \frac{1}{d_1 \cdots d_i} = [0; \underbrace{d_1}, \underbrace{-d_2}_{d_1}, \underbrace{-d_1}, \underbrace{-d_3}_{d_1 d_2}, \underbrace{d_1}, \underbrace{d_2}_{d_1}, -d_1, \underbrace{-d_4}_{d_1 d_2 d_3}, \ldots]$$

III) for $n \in \{1, \ldots, q\}$, we have

$$\sum_{i=1}^{\infty} \frac{1}{x^n d_1 \cdots d_i} = [0; \underbrace{x^n d_1}, \underbrace{-d_2}_{x^n d_1}, \underbrace{-x^n d_1}_{x^n d_1}, \underbrace{\frac{-d_3}{x^n d_1 d_2}}, \underbrace{x^n d_1}, \underbrace{\frac{d_2}{x^n d_1}, -x^n d_1}_{x^n d_1 d_2 d_3}, \cdots].$$

Proof. I) Let $Q_1 = d_1$ and $Q_i = [i]d_{i-1}^{q-1}$ $(i \ge 2)$. Since

$$Q_1 Q_2 \cdots Q_i = d_1 \left([2] d_1^{q-1} \right) \left([3] d_2^{q-1} \right) \cdots \left([i] d_{i-1}^{q-1} \right)$$
$$= d_2 \left([3] d_2^{q-1} \right) \cdots \left([i] d_{i-1}^{q-1} \right) = \cdots = d_{i-1} \left([i] d_{i-1}^{q-1} \right) = d_i$$

and $Q_{i+1} = [i+1]d_i^{q-1}$, we get $Q_1Q_2 \cdots Q_i|Q_{i+1} \ (i \ge 1)$. For $i \ge 1$, we have

$$\frac{-Q_{i+1}}{Q_1 Q_2 \cdots Q_i} = \frac{-Q_1 Q_2 \cdots Q_i Q_{i+1}}{(Q_1 Q_2 \cdots Q_i)^2} = \frac{-d_{i+1}}{d_i^2}.$$

By Theorem 1, we get

$$\sum_{i=1}^{\infty} \frac{1}{d_i} = [0; \underbrace{d_1}, \frac{-d_2}{d_1^2}, -d_1}, \frac{-d_3}{d_2^2}, \underbrace{d_1}, \frac{d_2}{d_1^2}, -d_1}, \frac{-d_4}{d_3^2}, \ldots].$$

II) Let $Q_i = d_i \ (i \ge 1)$. Consider

$$d_{i+1} = [i+1]d_i^q = [i+1]d_i^{q-1}d_i = [i+1]d_i^{q-1}[i]d_{i-1}^q = \dots = [i+1]\dots[2]d_i^{q-1}\dots d_1^{q-1}.$$

Since $q \geq 2$, $d_1 d_2 \cdots d_i | d_{i+1}$. By Theorem 1, we get

$$\sum_{i=1}^{\infty} \frac{1}{d_1 \cdots d_i} = [0; \underbrace{d_1}, \underbrace{-d_2}, \underbrace{-d_1}, \underbrace{-d_3}, \underbrace{d_1 d_2}, \underbrace{d_1}, \underbrace{d_2}, \underbrace{-d_1}, \underbrace{-d_4}, \underbrace{d_1 d_2 d_3}, \ldots].$$

III) Let
$$Q_1 = x^n d_1$$
 and $Q_i = d_i$ $(i \ge 2)$. Consider

$$d_{i+1} = [i+1]d_i^q = [i+1]d_i^{q-1}d_i = [i+1]d_i^{q-1}[i]d_{i-1}^q = \dots = [i+1]\cdots[2]d_i^{q-1}\cdots d_1^{q-1}.$$

Since x[i] for all $i \geq 1$ and $q \geq 2$, $x^n d_1 d_2 \cdots d_i | d_{i+1}$. By Theorem 1, we get

$$\sum_{i=1}^{\infty} \frac{1}{x^n d_1 \cdots d_i} = [0; \underbrace{x^n d_1, \frac{-d_2}{x^n d_1}, \underbrace{-x^n d_1}}_{x^n d_1}, \underbrace{\frac{-d_3}{x^n d_1 d_2}}, \underbrace{x^n d_1, \frac{d_2}{x^n d_1}, -x^n d_1}_, \underbrace{\frac{-d_4}{x^n d_1 d_2 d_3}}, \ldots].$$

References

 B. Adamczewski, and Y. Bugeaud, Palindromic continued fractions, Ann. Inst. Fourier, 57 (2007), 1557-1574.

[2] L. E. Clemens, K. D. Merrill, and D. W. Roeder, Continued fractions and series, J. Number Theory, 54 (1995), 309-317.

[3] H. Cohn, Symmetry and specializability in continued fractions, Acta Arith., 75 (1996), 297-320.

[4] V. Laohakosol and P. Riyapan and T. Chaichana, Explicit construction of continued fractions whose partial denominators consist of two copies of an arithmetic progression, Contributions in Math. Appl., 199-209.

[5] D.H. Lehmer, Continued fractions containing arithmetic progressions, Scripta Math., 29 (1973), 17-24.

[6] J. Mc Laughlin, Symmetry and specializability in the continued fraction expansions of some infinite products, J. Number Theory, 127 (2007), 184-219.

[7] M. Mendès France and A.J. Van der Poorten, Some explicit continued fraction expansions, Mathematika, 38 (1991) no.1, 1-9.

[8] P. Riyapan, V. Laohakosol, and T. Chaichana, Two types of explicit continued fractions, Period. Math. Hungar., 52 (2006), 51-72.

[9] J. O. Shallit, Simple continued fractions for some irrational numbers, J. Number Theory, 11 (1979), 209-217.

[10] J. O. Shallit, Simple continued fractions for some irrational numbers II, J. Number Theory, 14 (1982), 228-231.

[11] J. Tamura, Explicit formulae for Cantor series representing quadratic irrationals, in Number Theory and Combinatorics (eds. Akiyama J. et al.), World Scientific Publ. Co., Singapore, 1985, 369-381.

[12] J. Tamura, Symmetric continued fractions related to certain series, J. Number Theory, 38 (1991), 251-264.

[13] D. Thakur, Continued fraction for the exponential for $\mathbb{F}_q[T]$, J. Number Theory, 41 (1992), 150-155.

[14] D. Thakur, Exponential and Continued Fractions, J. Number Theory, 59 (1996), 248-261.

[15] A. J. Van der Poorten, Folded continued fractions, J. Number Theory, 40 (1992), 237-250.